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1. Gl SHEl & ¢

(37) (F)
(a) HOH-243-Q () fau smam
(b) FEH-243-T (il) TRUTERi= T
(c) HaH-243-Z (iil) TS SR
(d) HH-243-Y (iv) TR @ FEraieo
qgit I

(a (b) (¢ (d
1y @) () @) @
(2 @v) G @@ @)
@) @) @) @ @
(4 @) (@) (v) (@)
Match the following pairs :

(A) (B}
(a) Article - 243 - Q (i) Finance Commission
(b) Article-243-T (i) Constitution of Municipalities
(c) Article-243-2 (i) Reservation of Seats
(d) Article-243-Y (iv) Audit of Accounts of Municipalities

Answer Options :

@ () (9
() @ @) @) @
() (v) (@) (@ ()
(3) @) (v) (@ @
@ O @ @) (@

2, A FEA Al
(a) Toemr ofted=n weeai=t e 50 1 75 96 3T,
(b) A HFERR ANferrai= Frgad T wogR 2.
() Tocafyed foee dfidw vefag 959 a/@n.
(d) Foem ofted=h Tan = b .
i I
1 @ O 2 O3 B) (@) 0) () @) (@) () ()
Select the correct statements.
(a) Total number of members of Zilla Parishad is 50 to 75.
(b) Chief Executive Officer is appointed by State Government.
(c) District Collector is an ex-officio member of the Zilla Parishad.

(d) Tenure of the Zilla Parishad is Five Years.
Answer Options :

(1) (@ (P)and(c) (2) (b).(c)and(d) @) (a) (b)and(d) (4) (a), (c)and(d)

HoAl HIAES AT/ SPACE FOR ROUGH WORK PTO
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3. el fqum faema o
(a) 733 w2 g 11 3 SRR YR (eeReAT gHIfas v T,
(b) T Frate s ArfeYHRET Ter 9 SeRiE fFaSuE! YAt .
(c) dardien snfds yheomrerdt 3 = aufht Feism s T Fel 9.
FATHT O/ FTa/~ e 3R/ ?

(1) (@) (b) (2) T (a) (3) W (c) @ (@) 3 ()
Consider the following statements.

(a) The 11t Schedule was added to the Indian Constitution by the 737 Constitutional
Amendment.

(b} Elections to the Panchayat Raj Institutions are conducted under the guidance of the
State Election Commission.

(c) For the financial review of Panchayats, a Planning Commission is established every
five years.

Which of the statement/s given above is/are incorrect ?
(1) (a) and (b) (2)  Only (a) (3)  Only (c) (4) (a)and (9

4. Grhe faur fa=mm o
(a) HEAEHI oo T Hial e SHLam.
(b) TEATIE! WAl STHYHT HA SMIAT YEEL T, I,
(c) =R AaT A s AR FUE %ol S
(d) weiHes anfes fen faur ofteden sameeR .
Tl For/Adl faumA atET smea ?
1) @ ®ATEQ @ @3B @) OAUCG @) () (o AMd)
Consider the following statements.
(a) The Governor should appoint the Ministers on the advice of the Chief Minister.
(b) The Ministers shall hold office during the pleasure of the Governor.
(¢) The salaries and allowances of Ministers shall be determined by the Governor.

(d) The Council of Ministers is collectively responsible to the Vidhan Parishad.
Which of the statement/s given above is/are correct ?

(1) (a) (b)and () (2) (a)and (b) (3) () and (c) @ (b)) and (d)

FoAT SRS AT/ SPACE FOR ROUGH WORK
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5. @it faym fa=amd =i
(a) foeer =mmdieri=h frgedt ToaTe .
(b) foeRr =araeiver v Forgert o sl R Se =T et ST,
() oo =mamdie vt fFrgect Somd st % 91 o SEnrAed Jad 9.
FhEts! o/ faum/A |iET STR/A ?
(1) A (a) (2)  (a) 30T (b) (3) ™H (o) @) (a) 30 ()
Consider the following statements.
(@) The appointment of District Judges is made by the Governor.

(b) A person to be appointed as District Judge should be recommended by the High Court.

(¢} A person to be appointed as a District Judge should be in the service of Central or State
Government.

Which of the statement/s given above is/are correct ?

(1) Only (a) (2) (a) and (b) (3) Only () (4) (2) and (c)
6. VIRHHY ToHU e TERITHR S0 Wed o SNYTIER FCTHEHF B[ Sifa H
ot
(1) S Sfor v @) el nfer v
(3) v anifYr @ (4) wHa v T amn
Under the provision of the Indian Constitution, a Community can be declared a minority on
the basis of .
(1) Caste and language (2) Religion and caste
(3) Language and race {(4) Either religion or language

7.  HEIHEE A Sadid G hivd e e AR 2
(1) = A= T& ke a9 Sy e e a<a.
() wfriger =T sMeda d e TRER TR
(3) = AR AT A fgE Sare i Fad S W ST 319 s A9 A,
(4) YGRS FIER <EeEd gIEuEr @M JfER .
Which one of the following statements is correct about the Advocate General ?
(1) Appointed by the Governor in consultation with the Chief Justice of High Court.
{2) He holds office during the pleasure of Council of Ministers.

(3) To be appointed, he must be qualified to be a Judge of the High Court.
(4) He has the right of audience in any court in India.

HoAT HITEIS S /SPACE FOR ROUGH WORK PT.O
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Treitel faur FHresiqas arge Tl HRoTH aRieyE aa sitea.

(a) TG widar a7 PRl Yada Fo.

(b) 14 FN(=A1 AR HeAHIE! W= o R FAsom=t @ Fo.

(c) Ger= fadhsieomam e Teis e IrTdaTadr=t T S0,

d) MRS FHE A HEE A ST

e i Fr, |

1} (a), (), (d) 2) (@), (9) (d) @) (b)) (d) (4) w0 T

Read the following statements carefully and identify the Directive Principles of the State
Policy.

—

(a) To promote International Peace and Security.

(b) Provisions for free and compulsory education for children below 14 years of age.
(c) To organise Gram Panchayat in every village and to try to decentralize power.
(d) To enact uniform civil code for citizens.

Select correct option.

O @6d @ @Od G O.©OE@ @ Altheabove

. EEeE SR faue s a2

(1) ToIIATE] FIAR! AT Hosdi=l AAGETEuaEt 92 e e fear == seead
| TBIATIIS! FIURTE! Tae TS TR
(2) AT e ST TRy Fiee R H e[ Husd & AFNGHE SIS IRd @
TgH <@t & 3fese 9 oA SR WaeT el e,

(3) ITTRT-51-A TSI S TRV HIVTdE! [evd Feed dive 7o a8 & Segfeedt s W
FI TAT WA AN Fed § T Hfeh Haed Iw.

(4) TSI THE G

Which one of the following statements is incorrect ?

(1) There is no provision in the Constitution for direct enforcement of any fundamental
duties nor for any sanction to prevent their violation.

(2) The Supreme Court has held that since the Duties are obligatory for a citizen, it would
follow that the state should also strive to achieve the same goal.

(3) Article - 51-A does not expressly cast any fundamental duty on the state, the fact
remains that the duty of every citizen of India is the collective duty of the state.

(4) None of the above.

FoAl HIVEIS 9/ SPACE FOR ROUGH WORK
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10. mﬂméﬁmmmﬁﬂammm

(@) @ faws™ (b) foEia T
(c) Tax AHSS (d) WVTEEE IEFEEA
g 439 fae

O @60 @ O0d 6@ @Od @ T
Read following options carefully regarding the salient features of the Indian Federalism.
(a) Division of Powers (b) Written Constitution

(c) Independent Judiciary (d) Dominant State Governments

Select correct option.

1) (@), () () (2) (b)) (d) @) @ (© (D (4)  All the above

11, YRAIE {IEI=] 9YQ 9bdN 95d sledl.

(a) =i 9% TR (b) W, TR T

(c) 1 Ty, g (d) FFTIE] FONEH] 3R

g oty frae

1 ®)© ) (®) ©), (d) 3) (@) () (d) (4) w0 wd
Identify the members of Drafting Committee of Indian Constitution.

(a) Dr. Rajendra Prasad (by N. Gopalswami Iyengar

(c) Dr. KM. Munshi (d) Alladi Krishnaswami lyyar

Select correct option.

1) ®)© (2) () (), (d) ) (@) () (@) (4)  All the above

12, HENT TIERAT Gevier g faum frerst
(a) W AT TFF B THNcHS e L.
(b) TV THBIAI FTEd ATFRE <18 AN 39 AL
(c) T[T &k SN i TTa el Heg Wehard.
Re RE CRECE
1) ®) (2) W () (3) (@ ®) (4) A+
Choose the correct statements about Fundamental Rights.
(a) All Fundamental Rights are negative in nature.
(b) Fundamental Rights are not enforceable in the Court of Law.
(c) Fundamental Rights can be suspended at the time of emergency.

Select correct option.

(1) (). (9 (2)  Only () 3) (a), () (4)  All the above

HoT HUHE™ AT/ SPACE FOR ROUGH WORK PTO
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YIRAT Teee=a Sive STwsciand, o9 Fia anfor ayrerrl snyfas onfor Seifr woneh
30 HI0AME WA A, 390 e AR ?
(1) 173 38 (2) WT=T 39 (3) ITTWT 46 (4) ST 48

Under which article of the Constitution of India, the state will try to organize the modern
and scientific system of agriculture and animal husbandry ?

(1)  Article 38 (2)  Article 39 (3) Article 46 (4)  Article 48

14.

15.

T e s ISHH Hel Y W
(a) TSI HEAHAEN Geeiyad TeqaenhgT
(b) e TeATSAl HEAHATRSA

(©) e TLUIRST

(d) W= T e SigHTn qeaaady JaNyagd

YT 39

(1) (a) ¥ (b) (2) ™ () 3) () & (d) (4) 9 (b)

The State Flection Comunissioner can be removed

(a) by the Governor in consultation with the Chief Minister of State

(b) only by the Chief Minister of State

(c)  only by the President

(d) by the Prime Minister in consultation with the Chief Election Commissioner of India
Answer Options :

(1) (a) and (b) (2)  Only (o) (3) (b)and (d) (4)  Only (b)

TAeR Her TiETT g STHeedl FRIvCIE STl SIS HiveH Fred e <t A 2
(1) YRa Fat R (2) T aad
(3) R =mawmE (4) HIIRATE ~rETeTITd T

In which Court the validity of any law relating to the delimitation of constituencies shall be
questioned ?

(1) Supreme Court of India (2) High Court
(3)  District Court (4) Not in any Court

el HTHTETS AT/ SPACE FOR ROUGH WORK



A 9 Q13
16. 9= Yy FeHdare ¥ € RaTen farga anfor Sfaeamen arn e g &8
IS ST IIEe ASEg el Yol eqgdd e gid.
(1) EHE-¥EH G () FrafayaE gt O9Ro
(3) T FHY @) TR FORE T
The strategy under the 9" Plan was oriented to enabling India’s broad based
and varied private sector to reach its full potential for raising production and income level.
(1) Input-output strategy (2) Export led growth strategy
(3) New agricultural strategy (4) None of the above
17. <@ TeaitE AT TEY @ watd I ey 7 SIS SATA 3T,
(1) S & (2) S &
(3) B (4) ERIE A @UEDBT
In Tenth Five Year Plan, largest allocation of the total outlay was kept for sector.
(1) Energy Sector (2) Social Sector
(3) Agriculture Sector (4) Transport and Communication
18. TN =@t derEret gatd sa faaqieet 1 SR e,
(1) =] weyel e (2) SIS ot
(3) T q=d (4) TS ewon
Largest Finance for Seventh Five Year Plan was received from source.
(1) Current revenue balance (2) Market Borrowings
(3) Small savings (4) Deficit Finance

19, e TEaEfte ASHEUAM YEeTis! HIvd FRHT T& FHIo9 3 ?
(a) TENUYEY & HrEwA
(b) iR ARG 9 ITASR FEAEA
(c) <Y Iawd fase wrdwn

gt I ;
(1) P (a) (2) R (b) W (c)
(3) e (a) ST () (4) =0a wE

Which of the following programmes were started during IV Five Year Plan ?
(a) Drought Prone Area Programme

() Marginal Farmers and Agricultural Labour Programme

(c) Small Farmers Development Programme

Answer Options :

(1) Only (a) | (2) Only (b) and (c)

(3) Only (a) and (c) (4) All of the above

HoAT FHIAEE JOM/SPACE FOR ROUGH WORK PT.O
.T.O.
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20.

21.

22,

23.

10

1 Uit Ao TereHifas WEy gattd e,
(1) dfec d=ayes e (2) 7O dEErtE dee
(3) faed veafs g (4) 9=E! gEEItE e
Mahalanobis model has been associated with Five Year Plan.
(1)  First Five Year Plan (2) Second Five Year Plan
(3) Third Five Year Plan (4) Fifth Five Year Plan
TFEH! fhee Weorg, wifeg Sfhel A9 =GN T4 3.
(1) T 9= (2) ETEIAFI
(3) TR (4) =€ st
Name of the autobiography of Pakistani Cricket Player Shahid Afridi is
(1) The Nine Waves (2) Playing it my way
(3) Game Changer (4) Wide Angle

AT 2019 =41 TGS S @ 9igl 0 8 ?

(1) <o sAfEws dagu (2) AR YA
3) <faron sftper Uegat (4) F gaar
Who was the guest for Republic day, 2019 in India ?

(1) South African Prime Minister (2) Prime Minister of Colombia
(3) South African President (4) Sultan of Brunei

TR T ' Thadl Yl i WER Yea Al Wel Yedl U] helshi FHT0r Shell 37 ?

(1) T (2) o R

(3) T = (4) T fam

Which artist has built the Statue of Unity - statue of Sardar Patel in Gujarat ?
(1) Ram Sutar (2) Bhushan Pathare

(3) Neeraj Gupta (4) Dinesh Singh

24,

2019 78 faett a1 TR sAofismuit gffert IR Helt 91 5ot qRTS R0 SR 378 ?

(1) SHcmgE Steid 2o (2) ST AT HART

(3) IHEEIR Ty (4) Wi SERTHET Ao et

Recently Chile declared state of emergency in 2019, what was a reason behind this ?
(1) Volcanic irruptions (2) Wild fires ‘
(3) llegal migrants (4) Attacks on Mosques by extremists

Fe SIS 0/ SPACE FOR ROUGH WORK
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25. d SE TS S IO IS A Fe et ?

(1) TERIE MRS 11 (2) FrETsitE TaEare

(3) HANITE MEwarS 11 (4) JAMET TE MAFATS

Bank of Baroda was founded by the Maharaja of Baroda

(1) Sayajirao Gaekwad II (2) Shivajirao Gaekwad

(3) Sayajirao Gaekwad III (4) Pratapsingh rao Gaekwad

26. T [HGS I AR T HIK 38 ?

(1) &S TS @ =T
(3) HIIE SR (4) fem
What is currency of New Zealand at present ?

(1) New Zealand Pound (2) Euro
(3) New Zealand Dollar (4) Dinar

27. Tasea onfor T9A & T ARG ST YRt 0 STHHIST dafi oG ?

(1) e oo (2) HIBAH

(3) TEI-TIIE (4) TR I

Vikram and Pragyan names of machines are associated with following project of Government
of India :

(1) Nuclear missiles (2) Mangalyaan

(3) Supercomputers (4) Chandrayaan II

28, 'I9' 91 GG YHERE A6 GEUH] e e oI 2
(1) 3 Feit () WA (3) TUH T (4) 3w
Who is known as founding father of Rap Music ?
(1) R Kelly (2) Gil Scott-Heron (3) Tupac Shakur (4) J]. Cole

29. YEIAU! FAHR M0 A NFG0G & 3790 ArSAqT G SIS SIS e

(a) dufce @Sl - HOR (b) TR YRGS - S G
() @ IR - dEen (d) omBRE - firr
i 39T :

(1) (@, ()@ @ @ @ ®)«© 3) @)@ @) (@)
Find the correct match of the following artists with their area of expertise.
(a) Budhaditya Mukherjee - Sitar {b) Pritam Bhartwan - Folk Music
(c) Swapan Chaudhuri - Tabla (d) Thanga Darlong - Guitar
Answer Options :

1) @00 d @ @)@ G @ © @4 @

HoAT RIES AT/ SPACE FOR ROUGH WORK PTO
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30. 2019 =1 G JEHR Higedd Gaiepe faaaern gaEFR N faAEM qIHEen 3T,
(1) M 2) =% 9 @) WITE @) T heEfE
In the year 2019 Oscar award for best picture was bagged by .
(1) Roma (2) Black Panther (3) Green Book (4) The Favourite

31. W& HEUIEIE 5 el TH AHER dEETdl 3Med.  oaredl e SHEhS |iad SEoel TR,
HiFA= T SEtES A A L. AT A SAIHS s wEH e W
AT HIV FHAS 38 ?

(1) gfer (2) wfa@ (3) @ (4) o
Five girls are sitting on the bench for the photograph. Savita is immediate left to Lata. Amruta

is immediate left to Kavita. Bhavika is immediate left to Amruta. Who is sitting in the
middle ?

(1) Savita (2) Kavita (3) Amruta (4) Lata

32. Y IeumE! fhad @@

\/522 + /36 + V169
(1) 83

(2) 63 3 73 4) 93
Find the value of
JSEZZ+,/36+J@
(1) 83 (2 63 (3) 73 4) 93

33, aUmIeIhaicl qeTel 31N i 3T 7
BA, GFE, NMLK, .
(1) WVUTS (2) RQPO (3) VWXYZ (4) XWVU
The next term in the series is :
BA, GFE, NMLK, .
(1) WVUTS (2) RQPO (3) VWXYZ (4) XWVU

3¢, FUX Y FNE AR Y W2 IS AR, ‘2 A TSR, B X T TS ARG aA
= ‘B 9t A i ?
(1 geri (2 ©@
(3) vig (4) =R
If ‘X’ is the brother of “Y’. ‘Y’ is the brother of 'Z’. ‘Z’ is the husband of “A’. ‘B’ is the father of
‘X’. Then‘A’ is related to ‘B’ as :
(1) Daughter (2) Daughter in law
(3) Sister in law (4) Sister

el SIS SPT/SPACE FOR ROUGH WORK
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35. el Gichfdeh MV ‘Queen’ & 5T 18225515 311 foeien S @¥ &g Wishfas WIS ‘Parrot’ 31 9155
wq1 Taden wEa ? |
(1) 17218181621 (2) 161119191516 (3) 1512131415  (4) 1112131418
If the word ‘Queen’ is written as 18225515 in a particular code language then what should
be the code of the word ‘Parrot’ in the same language ?
(1) 17218181621 (2) 161119191516 (3) 1512131415 (4) 1112131418
36. wiferRt T &0
abbaab_aabb_ b _a
(1) abba (2) abab (3) aaba (4) baab
Complete the series.
abbaab_aabb__b_a
(1) abba (2) abab (3) aaba (4) baab
37. Wl 91 HAT ARG, AR i AHodT ThHERRT Hvrar ot FIaR aien oRd. &
STl ATt oAlR. T ST WM.
(1) > (2 Zé& (3) (4)
There are four figures out of which three are similar in some way and one is different from
them. Find out different figure.
(1) ; (2) Ag (3) 4)
38. STFHrEl qTodTdier Wawn e
NeMFPA7

(1) M6WELVE (2) MEeWELVZ (3) MINEBVY (4) MEeNEBV:A
Find the water image of diagram.

N6MFPA7?
(1) M6WELBVX (2) WMeWELBVZ (3) WMIWNELBVA (4) WVeNWELVA

HeeT FHEIS A/ SPACE FOR ROUGH WORK
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39. favg snfor wifas vum <@ 8. 1 Fvia fo=me ®t T e 1 gy 3 ? e fam
RO, IR ShTeRt fersA e i R W wifae anft famg A wra Hey o1 2
(1) g i ade (2) Terh anfy agE
(3) gavi anfo e (4) WS nfor s
Vinay and Bhavika is walking on the road. Someone asked them about their relationship.
Vinay replied, “My paternal uncle is the paternal uncle of her paternal uncle”. What is the
relationship between Bhavika and Vinay ?
(1) Father and mother (2) Father and daughter
(3) Uncle and niece (4) Sister and brother
40. I YEHAR A T A AT Hiorar IR e ?
(1) TER (2) ¥HER (3) R (4) TeEr
Kranti din occurred in Friday. Which day occurred on Children’s day ?
(1) Thursday (2) Monday (3) Tuesday (4) Sunday
41. 10 7%9 o7 14 Afeen T fgq@m T 1750 FAE Fa@ ® 10 e9 37 10 afeen & feawm fed
FAE FA 2
(1) 1675 (2) 1575 (3) 1475 (4) 1250
If 10 men and 14 women can earn ¥ 1750 per day. How much would 10 men and
10 women can earn per day ?
(1) 1675 @) 1575 (3) 1475 (4) 1250
42, 17 109 Tda fFet ofeh 318 S 1 SN 9 7 VI SR Y et T ol 9 I 2
n 3 (2 14 (3) 8 4) 9
How many numbers from 1 to 109 are such which is divisible by 9 and whose at least one
digitis 9 ?
1 3 (2) 14 3) 8 4 9
43. T AVIETRCA HE g T FE q6E SlRd. el Ul HISedrs THU 37 feh. I Wsed

TH 116 TAE. T =06 gt G fHdt ?
(1) 16 2 21 (3) 37 4) 15

Some elephants and some ducks are in a zoo. Their total necks are 37 counted and total legs
are 116 counted, then out of them what is the number of elephants ?

(1) 16 @ 21 @) 37 @ 15

HoAT HEERA W/ SPACE FOR ROUGH WORK
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44, T 'IOF' BN USR], ‘anern!’ WU S onfor TumeR’ RuS e S8 FEE @
Telte IS I FHE ?

10+8-16 %6
(1) 108 (2) 16 (3) 120 4) 30
'+’ means ‘' x’,’—' means '+’ and ‘' X’ means ‘' +’, then find the value of :
10+8-16x%6
(1) 108 (2) 16 (3) 120 (4) 30

45. T 3MEAET st 9 E6) I s 13 O 3R, et giifhdt 82 . a1, W A Sawes TRt ?

(1) 378 JLH. (2) 387 AA. (3) 182 AL (4) 198 JHL

The difference between the length and breadth of a rectangle is 13 m. Its perimeter is
82 m, then what is its area ?

(1) 378 sqm (2) 387 sqm (3) 182 sqm (4) 198 sq.m

46. THE VERE 7 A9 9 5 9@ G TR A T 445 ST SN 5 9 F 7 a@n 9 TEw e
¥ 455 3T, W UH U7 9 TF Tat 9t AwA fhaa fomdi 2
(1) 740,235 (2) T35335 (3) T40,%45 @ 735340

The total value of same type of 7 pens and 5 notebooks is ¥ 445 and the total value of
5 pens and 7 notebooks is ¥ 455. What is the value of one pen and one notebook
respectively ?

(1) T40,%35 ) 35735 (3) T40,T45 (4) T35%40

47. weEfamREn Pl S Ge 3Ed ?

3 7 11
709]7 11/49) 11 14/ 214
3 7 5!
(1) 112 (2 211 (3 121 (4 122

Which number will replace the question mark ?

3 7 11
709]7 11[49] 11 14]7]14
3 7 11

1) 112 @) 211 3) 121 4) 122

FHoAT FHIAMEE ST/ SPACE FOR ROUGH WORK PT.O
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48. TSI T IH| TS el AU 10 3R, 1 WA el STeeh-s/ae] hed Jom wedy 3t
Hed WA 44 54 =1 Wl 3M8. T Hed HE I ?

(1) 55 ) 37 (3) 28 (4) 46

Sum of two digit number is 10. If the place of number is changed, the difference is 54. What
is the original number ?

(1) 55 @) 37 (3) 28 (4) 46

49, WA AREE TR S Rt e 92 2

18 | 25 | 20
> 12119
(éz 17 | 24

(1) 25 ) 23 @) 32 (4) 26

Which number will replace question mark in the following figure ?

o)

(1 25 | 20

(45 21| 19
22 (17 | 24

1y 25 (2) 23 3) 32 1) 26

50. Ul Afeard fohdl Har I, Seen Aiedn e §9d ofHe A & 31 fead s1edie ?
(1) 4 2 5 Q) 6 4) 7

How many Mondays will be there in a particular month, when the month ends on Wednesday
and having 31 days ?

(1) 4 2 5 (3) 6 4 7

FeAT ST JRT/SPACE FOR ROUGH WORK
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51. shien o701 hisTel AEAT SATST=41 T4 UK 3: 5 TR, 7 SN{Hat o= a3 O 11 : 16 B1d. &
i 2Tt 99 Hwal
(1) =faard a9 =15 39 9 Hlecd 99 = 25 74
(2) wfaa g9 =25 94 9 FHea 99 = 1599
(3) Hfaa 9 =109 9 Fe~ a9 =129
(4) Hfoae 5@ =119 9 Fec™ 99 = 16 T4

The ratio of present ages of Kavita and Kajal is 3 : 5. After 7 years their ratio will be
11 : 16. Then find their present ages.

(1} Kavita's Age = 15 years and Kajal's Age = 25 years
{2) Kavita’s Age = 25 years and Kajal's Age = 15 years
(3) Kavita's Age = 10 years and Kajal's Age = 12 years
(4) Kavita’s Age = 11 years and Kajal's Age = 16 years

52. 7%%9mﬁmﬂawwm&ﬁﬁ@wmﬁamﬁaﬁﬁﬁa
7 a9 @M e TR feaand ol st ?
1) 96 (2) 90 (3) 84 4) 75

7 people 9 hours a day finished a work in 64 days. How many days 6 people 7 hours a day
finished same work ?

(1) 96 (2) 90 3) 84 4) 75

53. el T TTHS 343 T 38T, T A TSRS fhdl 7

1) 343 St ) 225 = (3) 512 A (4) 294 ST
If volume of cube is 343 cubic metre, then find the surface area of cube.
(1) 343 sq.m (2) 225 sqm (3) 512 sqm (4) 294 sqm

54, JERIEHes AN T SITAKIS Feidl H&A Ihel 6 7 Teeanss <F auiH! el & 26508 Hrel
R S TuTgEt wEw FreiH g e A ?
(1) 30,000 (2) 31,000 (3) 28,500 (4) 30,300

Due to deforestation number of trees decreases at the rate of 6% per year. If number of trees
after 2 years become 26508, then find total number of trees before 2 years.

(I) 30,000 (2) 31,000 (3) 28,500 (4) 30,300

HoT M AR/ SPACE FOR ROUGH WORK PT.O
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55. SRS HIHLTTAT WEATIET 30% SEd . A Uhe U HW 23 feaam quf w, | faem @
M ot feaam qof s ?
(1) 23 fge9m 2) 10 fgawEm (3) 15 feaam 4) 13 feamm

Akshay is 30% more efficient than Bhavna. How much time they working together, take to
complete a job which Akshay alone could have done in 23 days ?

(1) 23 days (2) 10 days (3) 15 days (4) 13 days

56. T W& TEIG & G TEiae 15 9 A, WX WAl 15 3, o oF HET 0T ?

(1) 45,225 (2) 75, 100 (3) 45,75 (4) 45, 90

In the two numbers, LCM is 15 times its GCD. If GCD is 15, then what are these
numbers ?

(1) 45, 225 (2) 75,100 (3) 45,75 (4) 45, 90

57. 1000 Hiex @l Wwomel e 36 fRH A W STEAr 1800 Hied @iear wiewd fand deerd
siretiea ?
(1) 250 €& (2) 260 &7 (3) 270 §&g (4) 280 €33

A train of 1000 meter length is running with speed of 36 km per hour, then what time it
required to cover a platform of length 1800 meter ?

(1) 250 second (2) 260 second (3) 270 second (4) 280 second

58. 13 = TR WA & 11 ai=n FosRt et s sraear S fedt 2 i ?

2 35 7
% 18 —% —% 19 —%
(1) 16% @ 18 @ 5 @ 195
If cost price of 13 articles equals to selling price of 11 articles then what is percentage of profit ?
2 35 7
% 18 —% —% 19 —%
1) 16% @ 18— ® @ 19
59, 257 45 = =T g dediE wied fadt ?
(1) 345 (2) 36.5 (3) 34.2 (4) 36.2
What is average of prime numbers between 25 to 45 ?
(1) 34.5 (2) 36.5 (3) 342 (4) 36.2

FHeAT HWIWES AR/ SPACE FOR ROUGH WORK
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60. TF 9 Vel 4 e fHeeamer 10,980 o fHeorell, T o aeqst o1diet fehwa fordl ?

(1) 11,435 (2) T11,437.50 (3) T 11,440 (4) T 11,442 50

If one item is purchased at ¥ 10,980 with 4% discount, then what is printed price of the
item ?

(1) T 11,435 (2) T 11,437.50 (3) T 11,440 (4) T 11,442.50

61. <HI 9 T WA e qga Al 3.
(a) T IS G .
(b) ¥ eI AT S
(c) =T T AINW EHH! g 3.
(d) ¥R GRS TE-dr) Wy S,
e Fod T,/ faum sy smeq ?
1) @3 2 @3 3 ®=@) (4) (o) ®
In case of Receipt and Payments Account following points are applicable.
(a) Itis real account.
(b) It is always accompanied by Balance Sheet.
(c) Debit side of this account records receipts.

(d) Itis like a Trading and Profit and Loss A/c.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (a) and (c) (3 (b)and (d) (4)  (c)only

62. i WIS i1 T 1,000 TN YARY 0ATT STEAT GG T i A ITAA HLOAIIS! Sichd HILT el 7.
T AR T foceis sRd W, S Heseeanil T T9R M Fo A
1) = Iwe feawme sfus
2) smivem e feethiq asn

(3) iftrepd (STRTTR) T[T SRR

(4) e TR

Cheque of T 1,000 issued to Mr. Patil, but not yet presented for payment by him. If cash
balance is starting point then the manner of reconciliation will be

(1) added in cash balance of starting

{2) deducted from cash balance of starting

(3) declared as overdraft

(4) none of the above

oAl HIATETS ST/ SPACE FOR ROUGH WORK PT.O
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63. WA Fedia SgUAtai! HIvR 4Tg SHER STRd o Y.

(a) T RYD S .
() - faefauaran () YA fast (i) Jhe W TR FL0A
(b) WA THEFA o el =,
() i fEua
(i) RIS fEmd
(i) Oftey fahan SRUS god arient St
(c) HEM™ T TR S,
() Tor A (ii) =] WIAH (iii) STV WA
TRIAdH! BV T41E ST 3708 ?
(@ ®) (9
1) @ @ (@
(2) @) (@) ()
@) @ @) @
@ O @ @

In each of the following cases, indicate the alternatives which are correct.

(@) Assets are held for the purpose of

(i) Earning Revenue (i) Resale (i) Conversion into cash

(b) Stock is value at
(i) Cost price
(i) Market price
(iii) Cost or market price whichever is lower

(c) Depreciation is provided on

(i) Fixed Assets (iiy Current Assets (iii) Intangible Assets

Which is correct ?
(@ () (9
1) (@) @ @)
(2) (@) @@ ()
@ @ @ @
4 @O @ @

HeAT HIWMEIS W/ SPACE FOR ROUGH WORK
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64. WS Hiv fgig dgdie  TraisT GHisTr 3TE ?

(1) T =HEY (2) HIEAHE= 31 + HieTw

(3) TEE - <0 = HigEd (4) i TE

Which of the following is the ‘Accounting Equation” of double entry system ?
(1) Assets=Equities (2) Assets = Liabilities + Capital

(3) Assets — Liabilities = Capital (4) Al of the above

65. Il GHETIR a9 G =EeN § SHaWaer=l dafs AaeRH qafae s
2.
(1) G e (2) T&0 9= Hehea
(3) JIfEE Heheam (4) =] HTEE HHTTl :
As per concept, the affairs of firm will not be mixed up with the private affairs
of the proprietor. '
(1) Cost concept {2) Dual aspect concept
(3) Entity concept (4) Going concern concept

66. H1. fas/@ 4t T 5,00,000 T TEH WX T WG hel. Wil TN SIGE gHH 99 T8 AR,
e 9 S W@ SEfiTe 9o T 1,00,000 AR,  HEHN T3 W USd atqg FEar AR,
(1) ¥ 1,25,000 (2) T 2,65,000 (3) T 2,60,000 (4) T 2,70,000

Mr. Vijay purchased a motor car for ¥ 5,00,000. Useful life of the motor car is five years.
Residual value of the car at the end of the fifth year is ¥ 1,00,000. Depreciation is provided
on straight line method. Net book value of the motor car after 3 years will be

(1) ¥ 1,25,000 (2) T 2,65,000 (3) ¥ 2,60,000 (4) ¥ 2,70,000

67. TR HAHREAHICAT e TR 5% SO SaCIHTE Saret 7. S Sanel Shruargaten
TH T 21,000 3E; T HTEIIH STl fohedl 378 2

1) % 1,000 (2) T 2,00
(3) T 1,050 (4) g TR

The Manager get a commission of 5% of net profit after charging such commission. Profit
before charging such commission is ¥ 21,000, then what will be the commission of

manager ?
(1) ¥ 1,000 (2) T 2,100
(3) T 1,050 (4) None of the above

HoeAl HHTHS ST/ SPACE FOR ROUGH WORK PT.O
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68. OO T T GWite T2t I96 FE Ihd L.
(a) Yo TaHmL famered .
(b) W@ THHWHA FH e,
(¢) I G g il Jie.
(d) SAEY=N G FIEN ol e
Fiete S foum ater s ?
(1) (a) 3 (b) (2) (b) 30 (c) (3) (o) sfor (d) (4) (a) 3 (d)
A trial balance will not disclose the following errors.
{a) Omission of an entry in the original book.
(b) A wrong entry in the original book.
{c) A wrong amount posted to the proper account.

(d) Anitem posted on the wrong side of the ledger account.

Which of the statements given above are correct ?

(1) () and (b) (2)  (b) and (9 (3)  (¢) and (d) (4) (a) and (d)

69. YEieTden! IVl SHaed aleid= oy yfafafie +d 2

(1) s, W fafma 9=, 9=, FHo

(2) W fafra @, =, UFe, e

3) Tws, wia fafag T, FHol, |e

(4) UFE, FOH, W< faFHg =, T@E

Which one of the following arrangement represents the order of liquidity ?
(1) Cash, Bills Receivables, Stock, Debtors

(2) Bills Receivables, Debtors, Cash, Stock

(3) Cash, Bills Receivables, Debtors, Stock
(4) Cash, Debtors, Bills Receivables, Stock

el HIETEE AR/ SPACE FOR ROUGH WORK
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70. S AN THETE1 Ui WOie FHo I,

(a) TEH Yitaeh w0 (THEE) e T 6,00,000

(b) Teoien Ty SEEiaR 99 7 Ford ARy ¥ 1,00,000

(c) TERIEE! ST FeAe WY oY 7 Frelell YARw ¥ 1,20,000

(@) ¥ e Praded (THF) T W@ ffeed 720,000

¥ I

TFe fond g fareerss et ordet ?

(1) T 6,00,000 @) T 6,40,000 3) T 3,60,000 (4) ¥ 8,40,000

Following are the particulars from Bank Reconciliation statement :

(a) Balance as per Passbook T 6,00,000

(b) Cheques issued but not presented for payment T 1,00,000

(c) Cheques sent for collection but not yet collected ¥ 1,20,000

(d) Bank charges debited in the passbook only T 20,000

What is the balance as per cash book ?

(1) T 6,00,000 2) T 6,40,000 3) T 3,60,000 (4) T 8,40,000
71. WS faum STeTea SeERie SRaa Hafid .

(a) WA TN FIRITA LT AL,

(b) U@ TrE T TS SR HIe GEl hedral e S,

(c) TAMETE WHA T 5,000 foan S @ de e’ 21 ¥ Iy fosle fawefad v
.

(d) et R GaEIE! R A% THIvE TER e .

o faur/ faum aer oTe ?
1) (@) B (2) (a) W (b) F
(3) (@) () 3 (d) @) () (b), () 3o (@)

Following statements are regarding documents of different transactions.
(a) Voucher is the documentry evidence of the transaction.
(p) Cash memo is a document issued for goods purchased on credit.

(c) When the amount of voucher is ¥ 5,000 or more, ¥ 1 (one) revenue stamp is required to
be affixed.

(d) Petty cash voucher is prepared for small amount of payment.
Which statement/s is/are correct ?

(1)  (a) only (2)  (a) and (b) only

(3) (a). () and (d) 4) (), (), (c) and (d)
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72. gt s fRan sHfafe <vam steet s 1 et ERIChIGH
(1) &9 (2) O (3) UG fegor (4) R feqm
To cancel the wrong credit or extra credit given is prepared.

(1) Debit Note (2) Credit Note (3) Cash Memo (4) Credit Memo

73. TRH AHF Uga/ e Neas dgd Adia ST SRR THTO el ST,
(1) Wl st =18 ) YF T ue
(3) WS T fer (4) FHEYE FUQE AR
Under the Diminishing Balance Method of Charging Depreciation, it
(1) increases every year (2) decreases every year
(3) is constant every year (4) none of the above
74, eI =fafiad ¥6, TEEAre Fayd SHea T JMed.
(a) TN ; (b) el HERM
ORI ETE (d) STEHMER Ea AfEE 3E0
FreATerien! /AN TaTT FE AR ?
(1)  (a) ® (2) () ®H
(3) (d) ®E T 4)  (a) (U (b) FH
All of the following are fundamental accounting concept, except
(@) Dual aspect (b) Going concern
(c) Full disclosure (d) Business entity
Which is/are correct ?
(1)  (a) only (2) () only
(3)  (d) only (4) (a) and (b) only
75. T A T QA T b ggifed.

(1) e Afus 9=
) e Hys G4
(3) U@ T sifas @ s
@) @ smE sty T T3

The debit balance of Income and Expenditure Account indicate
(1) the excess of Income over Expenditure

(2) the excess of Expenditure over Income

(3) the excess of cash receipts over cash payments

(4) the excess of cash payments over cash receipts

HoeAl HTATATS s/ SPACE FOR ROUGH WORK
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‘GRS T WTee S Jge AN g e ?

(a) Nfdss Fuia @rHiE Feet FHa 3.

(b) fa<ia faer 9o ToR FeaEa GHie qoi Felt .

(¢) WA TS TAfhe HYA 1A o THI T2 Garavit Held TieRid ol

(d) WRAE T 9 ardfas Gl head JHEe ST

FUAYF! HI Taym/ faum ste) da ?

(1) b wd () (a) 3T () (3)  (b) snfoT(d) @) (a), (b) =0T (d)
In case of ‘posting” following which points are not applicable ?

(a) Posting may be done at any time in that financial year.

(b} Posting should be completed after the financial statements are prepared.

(c) Posting means transferring the debit and credit items from the Journal to Ledger.
(d) Posting contains all Real account only.

Which of the above given statements are not correct ?
(1) All of the above (2) (a) and (c) (3) (b)and (d) (4) (a), (b) and (d)

77.

T WA 9 ST 10 99 9 it Yod T 5,000 ST, ot e € 25,000 T W FHell.
T W ISaTar SR <X fadt arda ?

(1) 10% (2) 8% 3y 5% (4) 15%

The useful life of an asset is 10 years and residual value is ¥ 5,000 purchased it for
T 25,000. As per the straight line method; what will be the rate of depreciation ?

1) 10% Q) 8% 3) 5% 4) 15%

78.

QT 3 FS eI A e, T Al TR A1 STH1 SIS A Tes

(1) o= e (2) FEK HaE T

(3) FUR @ (4) TWEE TN

In case of a debt becoming bad, the amount should be credited to :

(1) Sales Account (2) Bad Debts Account
(3) Debtor’'s Account (4) Purchases Account

79,

e ity o, AdGwedg e sufn grer fAasw 3. gafaw e,

(1) = ol C(2) oY e
(3) e (4) qEHRH
covers cost accounting, budgetory control and inventory control etc.
(1) Management Accounting (2) Financial Accounting
(3) Auditing (4) Book-Keeping

HeedT THIMTES A/ SPACE FOR ROUGH WORK
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80. EES T A SHUW/ T F9UR feE

(@) T : b e

(c) @M ad (@) Tafau s

GIATTIH 0T/ FION T qUHET S ?

1) () FH (2) (o) ®H (3)  (a) ST (b) TR (4) (d) FH
" Choose the odd(s) in the following group. ‘

(a) Bills Receivable (b) Cash in Hand

(c) Factory Expenses (d) Sundry Debtors

Which is/are the correct option ?
(1) (a) only (2) (c) only (3) (a)and (b) only (4) (d)only

81. WYt HIval T 230, (WTO) FAR A ?
(1) e FIR

(2) s ol a7ifor e SREETl TR (9 wEe i)

(3) - FW

(4) TEiTEAE TR (GATs)

Which of the following is not a agreement of the WTO ?

(1) Agreement on agriculture

(2) Agreement on trade in textile and clothing (multi fibre agreement)
(3) Infant-Industry agreement

(4) Agreement on services (GATs)

82. AW IR WAl (WTO) HWHE FIATes MRATEl v oy a7afard 2 2
(1) UL ANR famr=T am
() T wEE finie g e @™
(3) Y Fraidien =i wiaas
4) 0w
What were expected benefits to India from its membership of WTO ?
(1) Benefits of expansion of international trade
(2) Benefits from phasing out multi fibre agreement

(3) Improved prospects for agricultural export
(4) All the above

oAl HIAMETS AR/ SPACE FOR ROUGH WORK
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83. ] 3Nt a1 FSFAT=N 5@ FHHi Ufget S 3iF i
(1) IS9EA H&ai® (2) I Hahais (3) <O HHdiw (4) QA Hepdlh

The first two digits in Goods and Services Tax Payer Identification Number specifies

(1) Productcode (2) State code (3) Country code (4) Service code

84. WEiaE! HIVG HRATEN [TREIE Hemr Te, 37Rd 7
(a) U ASE I T AfUF qErA FH T
(b) sl W
(c) TIfEw TEE seea A dred T
(d) CIRHEIE SR, WY 9 Wigad FiE TEHaa
et e
(1) (@ F= @ ® %= (3) (W () e
Which of the following are the major development issues in India ?
(a) Low per capita income and low rate of economic growth
(b) Problem of unemployment
{c) High proportion of people below poverty line
(d) Imbalance between population size, resources and capital

Answer Options : .
(1) (a) only (2) (b)only (3) (c) only (4) All of above

85. YElerient e feaet e warare 3ifam swEemme) w9 ) ?

(1) 15 I, 1993 ) 15fed=, 1993

(@) 15T, 1994 (4) 15 Tfie, 1994

On which of the following day, Dunkel Proposal culminated into the Final Act ?
(1) 15*h November, 1993 (2) 15 December, 1993

(3) 15t March, 1994 (4) 15t April, 1994

HeAT HUAE AR/ SPACE FOR ROUGH WORK PT.O
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86. &1 1991 W&l WA efegamd YRaaT a1 URUATEE FHoe faagd Serish e SurERierT gt
U e ?
(1) =R o Yigaet T=er Gurn
(2) it fafw=o snfon fFrfaeoes
(3) ot gewiier gamom
(4) =0 wd

Which comprehensive liberalisation measures have been undertaken to improve the supply
side of the Indian economy in July 1991 ?

(1) Trade and capital flow reforms

(2) Industrial deregulation and disinvestment
(3) Financial sector reforms
(4) All above ;
87. TG Alh] Ha AN FL FALTH . 764 GHIfIR FIE ST,
(1) SO ok () dm e
(3) THrEafdd & 4) fammt =
All the indirect taxes have been subsumed under GST except
(1) excise duty (2) customs duties
(3) value added tax (4) sales tax

88. AT AR WeeA=AT (WTQ) Fifasas HEA (AQA) WHE aaaGal HI0R ?
(1) Vdiafe sEET= e o
(2) IE0E SEE SHEE S
(3) WK Hus, Widta smuR sufn Fraf wut wieal gefia seaaga
(4) SOAUH FIE A
What are the main commitments of the WTO's - Agreement on Agriculture ?
(1) To review tax structure on agricultural products

2) To review government expenditure on agriculture

(2)
(3) Commitments related to market access, domestic support and export competition
(4) None of the above

89, WNAWEl Jogafdd el STAcsav qEictisht Fowan feastt FTwm st ?

(1) 1 9=, 2003 2) 1 9=, 2004

(3) 1 ufi=, 2005 (4) 1 ufiE, 2006

On which of the following day, Value Added Tax was implemented in India ?
(1) 1%t April, 2003 (2) 1% April, 2004

(3) 1%t April, 2005 (4) 1%t April, 2006

HoAT HINEIS! AN/ SPACE FOR ROUGH WORK
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90. 1991 =1 3iiEfiTeh HRUIER Hrdsife {A9St fadt Selim TEta J9vaR Tt 8 ?

(1) 17 (2) 15 (3) 08 (4) 03
How many industries were reserved for public sector as per the Industrial Policy, 1991 ?
1 17 (2) 15 (3) 08 4) 03

91. WESH SR e FrjaaumEeuia 1993 T QEedsh! FIuear Qi STeare |iet el ?
(1) fona smem afiet (2) Trae wfEt
(3) AR, Heor aftdt (4) W, whHem witr
Which of the following committee was presented the report regarding the disinvestment of
Public Sector Enterprises in 1993 ?
(1) Vimal Jalan Committee {2) Rangrajan Committee
{3) R.N. Malhotra Committee (4) M. Narsinham Committee

92, ANNESTHA TAUEh AR TS TRt Her= uEel Bl 2
(a) frREl jaavmEle wd ey wEo.
(b) oo HIEITE YU S,
(c) w1 wifeemen araeR frey.

i 9

(1) W (a) ST () (2) K (b) I (c)

(3) & (a) oMU (b) (4) K (o)

Which of the following is included in the provisions of Trade Related Investment
Measures ?

(a) Removal of all restrictions on Foreign investment.
(b) Free imports of raw material.

(c) Obligations regarding use of local material.
Answer Options :

(1) Only (a) and (c) (2)  Only (b) and (c)
(3)  Only (a) and (b) (4) Only (c)
93. fodm anfde &= oy qEiada! Hivel aul STER Foa™ 3 2
(1) 1991 (2 1999 (3) 2000 (4) 2005
In which of the following year, Special Economic Zone Policy was announced ?
(1) 1991 (2) 1999 (3) 2000 (4) 2005
94. 1991 WeA WRAW N GURUnST wiwar <Al AT GE el
(1) g (2) Tl e
3) = wiEew (4) SRt FRE E
The process of economic reforms was initiated in India by the government of in
1991.
(1) Indira Gandhi (2) Rajiv Gandhi
(3) P.V. Narasimha Rao (4) None of the above

HeAT HIWAS SEM/SPACE FOR ROUGH WORK PT.O
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(3) P (b) S () () e

Which of the following measures are included in Privatisation ?
(a) Ownership Measures

{b) Organisational Measures

(c) Operational Measures

Answer Options :

(1) Only (a) and (b) (2) Only (a) and (¢
(3) Only (b) and (c) (4) All of the above

96. 2005 AY HeRl WEEX 3fUHe (MFA) T HUames IRAETE! shivien ween=l g FHfvea wer ?
(1) e A FaR wusren Frafden =
(2) g i awT =i e =
(3) Haren Frfden =emn
(4) SAIH RIRE e
What are the benefits proclaimed for India from phasing out of MFA (Multi Fibre Agreement)

in 2005 ?

(1) Pushing up exports of textiles and clothings
(2) Pushing up exports of cotton and jute

(3) Pushing up exports of services

(4) None of the above

97. YA T ot R T FEA TEIeTdeh! shIvar Y o] HR0AT ATl gl ?

1) T IN R (2) ¥

(3) YeEatda & (4) WEHSSE W

Which of the following tax was imposed in India by cancelling States Sales Tax ?
(1) Goods and Services Tax (2) Services Tax

(3) Value Added Tax (4) Corporation Tax
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98. TSN SGWIST AR HeE~H! Wity ufieg 71 faeRTolt SIS vam STt Bl
(1) g (2) i
(3) e (4) TATH BIOE AR
The fifth WTO Ministerial Conference was held in
(1) Cancun (2) Hongkong
(3) Singapore (4)  None of the above
99. uRdra fafden am=E: 71 foR St Tefuman S Sen S,
(1) gaw=A g qEfen

() THEHERST Sy

(3) THITRYH, SXAIUES A0 Haiferd yfshan

(4) =0a & fdy

Indian exports in general face Non Tariff Barriers to Trade (NTBs) relating to
(1) Packaging and labelling

(2)  Uniformity requirements

(3) Documentation and related procedures

(4) All the above

100. STTThIHIOIEIST STevdeh STaeea TRfeeriys) qeieie! e Juay B T ?
 (a) oTfdE IERE
(b) UEIE giauiE Iucted
() STegyieaRal
TR S
(1) e (a) S (b) (2) W (a)
(3) ®H (c) - (4) K (a) 37 (c)
Which of the following is not included in the essential conditions of Globalisation ?
(a) Economic Liberalisation

(b) Awvailability of infra-structural facilities
(c) Non-competitiveness

Answer Options :
(1)  Only (a) and (b) (2)  Only (a) ’ 4
(3) Only () (4)  Only (a) and () :

-00o0-
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©®) TgfaRadd fafeq woear fafire Snfe &= &M (T6 oF) 9. TeYfasafaie SIufea a1 T
FAREL Fe HH Hed™ o FU HOI A FS 3R, 3H TS WES 9 IHER SHIAE S5
IR Fwoed  wharmed o IRYHRA yiasy wEEEad sfuftae-82 " Ao TR FRAR FOAH
YLH o N ekl HAS Teh ToTSA1 HRETETT 370/ fhen $Ud Ush 29N =1 o= fag e 2o

(9) T YRR JETH fafed FOS I TIeaFa SHSARS € FeTgfeash! Wa: SR THamaFesl 2

I TEFR SR, AT THEITEREITaTe SUargd] SHEaRH SueaT SHuiaahel M- 1 SHaasias 7
feraran @ 0T SETIE e

Wk, 201,

Q. %h. 201.

T 99T
Tt I T FOIEET FIOT YT FIA FHa 7
(1) T IAEE S @ IvatEg fERmr
@ TS @) TiHeEES e
T I A4 I (3) T TEHeA e oW oM. @M A1 IR I ()" e, I
TISTSTAT T . 201 FHIGS FR-FAF (3)"' ¥ ades T wrEifd HEA @t Aevas
3R,
ONON MO
3TN TEA TEd TRaee T TR g ST-SRAI 1 JRTel W Jheeen Swafsels

] YIRS g6t odes quitd Stgifea Fe Trgam, gl Wed Fiedl WEY
AU o, A an wnEe U 9TuE .
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